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QUESTION 1

Routed Split Multilinking Trunking (RSMLT) is a way to ensure that traffic can be routed off the VLAN by adding router
redundancy. RSMLT is configured on which Ethernet Routing Switch (ERS) configuration component?

A. an OSPF router
B. a core switch port
C.aVLAN

D. an SMLT

Correct Answer: A

QUESTION 2

Which SMLT resiliency feature uses the Soft Down option?
A. extended Control Packet limit (ext-CP limit)

B. discards untagged frames

C. Simple Loop Prevention Protocol (SLPP)

D. virtual Link Aggregation Control Protocol (VLACP)

Correct Answer: A

QUESTION 3

When configuring LINK aggregation, a technician created a Distributed Multi-Link Trunk (DMLT) group on the edge
connecting switch cluster core. What gets distributed?

A. Access ports
B. VLANS

C. Uplinks

D. PVIDs

Correct Answer: C

QUESTION 4

A technician is configuring 802.1 Q tagging, VLACP with short timeout, untagged frames to be discarded. Which part of
the network is being configured?
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A. layer 2 core
B. layer 3 core
C. the edge

D. the uplinks

Correct Answer: D

QUESTION 5

A customer is upgrading an existing ERS 8610 with the 8692SF to software version 7.x. Which statement regarding the
upgrade is correct?

A. The customer must upgrade the 8692SF to an 8893SF for software release 7.x.

B. The customer can run 7.x with the existing 8692SF, although some features will be disabled.
C. The customer can add the SuperMezz module to the 8692SF and run release 7.x.

D. The customer must upgrade to an ERS 8810 chassis to run software release 7.x.

Correct Answer: C

Latest 3605 Dumps 3605 VCE Dumps 3605 Study Guide

Latest 3605 Dumps | 3605 VCE Dumps | 3605 Study Guide 3/3


https://www.geekcert.com/3605.html
https://www.geekcert.com/3605.html
https://www.geekcert.com/3605.html
http://www.tcpdf.org
https://www.geekcert.com/3605.html
https://www.geekcert.com/3605.html
https://www.geekcert.com/3605.html

